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SERIES-A

SECTION A: MATHEMATICS
(Total Question -~ 45 Max Marks - 90)
Q Nao. 1.The number of two digit natural numbers is;
a] 89 b) S0
e 91 d) 99

Q No. 2.I{ p and q are integers and represented in the form of p/gig#0), then it is a:

a) whole number b) rational number

) natural number d} even number

Q No. 3.Three numbers are in the ratio of 3 : 4 : 3 and their L.C.M. is 2400. Their

H.C.F. is:
a) 40 b) 80
e} 120 d) 200

Q No. 4.The least number, which when divided by 12, 15, 20 and 54 leaves in each

case a remainder of 8 1s:

a) 504 b} 536

c) 544 d) 548
Q No. 5.A train starts at 2:15 PM from a station at a speed of 72Km/hr. At what
time will it reach the other station 90Km away?

a) 3:00 FM b} 3:30 PM
¢) 4:00 PM d] 4:30 PM
Q No. 6.The decimal equivalent of 12 is
a) 12.625 b) 12.6025
e] 12.0635 d) 12.0625
1800 at the rate of

many years does the sum of Rs 1200 become Rs

Q No. 7.In how
simple interest of 5% per annum?
a) 10 Years b) 20 Years
e] 15 Years d) 25 Years
Q No. 8.The sum of smallest prime number and smallest composite number is:
a) 3 b) 4
d) 6

e] 5
Q No. 9.The length and breadth of a rectangle are in the rafio 3 :

7 em, then the length of the rectangle is:

1. If the breadth is

a) l4cm b) 16 cm
¢) 18 cm d) 21 cm
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QNo.10.In4:7::16: 28, 7 and 16 are called

a) Extreme terms b} middle termg
¢) b middle and ¢ extreme term d) none of these

Q No. 11.If the selling price of 12 books is equivalent to the cost price of 8 hﬂuks.
then the loss per cent will be.

a) 33.33% b) 50.34%
&) 44.33% d) 20.22%
Q@ No. 12. The prime factorization of 640 jg---—------
a) 2x2x2x2x5 B) 2x3x2x2x245
o) 2x2x2x2Xx2x2x2x5 d) Exﬂxﬂxﬂxzxgxﬁ

Q No. 13. The price of 2 sarees and 4 shirts is Rs. 1600. With the same money ope

can buy 1 saree and 6 shirts. If one wants to buy 12 shirts, how much
shall he have Lo pay?

a] Es. 1200 b) Rs. 2400
¢| Rs. 4800 d) Cannot be determined
Q Ne. 14. A man has some hens and cows. If the number of heads is 48 and the
number of feet equals 140, then the number of hens will be:
a) 22 b) 23
c) 24 d) 26
Q No. 15. If the income of B is 6P more than the income of A and the income of
Is 20% more than income of B, Then, income of C is how much % mare
than income of A?
al 92% b) 95%
o] 85% d) 90%
Q Ne. 16. If the numerator of a fraction is increased by 500% and the denominator

is increased by 600%, the resultant fraction is 10/21. What is the
original fraction?

a) 5/9 b) 8/13
e) 7/14 d) 5/12
Q No. 17.Find the perimeter of a rectangle whose areq is 234 80, em and its one
side ig 13 ¢m,
aj 3l cm b) 62 cm
e) 18 cm d) 24 cm
Q No. 18.A marble tile is of side 25 cm by 25 em, How many tiles will be required to
cover a floor of 4 m by 3 m?
al 216 b} 192
c) 188 d) 196
Page 4
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SERIES-A

Q No. 19, A sum of money increases 3 times in 5 years at simple interest. In how
many years will the same sum become 6 times at the same rate of simple

interest?
a} 10 years b) 12 years
e} 12.5 years d) 10.5 years
Q No. 20. What is difference between greatest S—digit number and lowest 4-digit
number?
a) 1 b} 89999
c) 98999 d) 99908
Q No. 21. The total number of diameters of a circle are----——--—-
a) 10 b) 200
c) 2 d] Infinity
Q No. 22. How many circles can be drawn to pass through three non co linear
points?
a) 2 b) 1
c) O d] None

Q No. 23.15-15+15x6 = x, then value of x is;
a) 6 b] O
e) 9 d) &4
Q No. 24. The sum of HCF and LCM of 45, 60 and 75 is;

aj) 330 b) 9&0
c) 915 d) 630

Q No. 25. A square and a rectangle have the same perimeter. If the side of the
square is 16m and the length of the rectangle is 18m, then the breadth of

the rectangle ig----------—-
a] l4m b) 15m
) lom d) 17m
Q No. 26. Smallest twin prime numbers are
a) 17,19 b) 11,13
c) 41,43 d} 3,5
JKSSEE-24 Page 5 T
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Q No. 27. Which of the following is not a prime number?

a) 83 b) 89
e) @I d) 97
Q No. 28. How many plane surfaces arc in a book?
a) b} 5
e} 2 d) 1
Q No, 29, Express in meters using decimals 2m 4ocm:
a) 2.46m b) 246 m
e] 0.246m d] 246 m
Q No. 30. Subtract 20.75 from 25.75:
a] o b) &
e) 10 d) 3

Q No. 31. A truck covers a certain distance in 12 hours at the speed of 70 kmhy,
What iz the average speed of a car which travels a distance of 120 km
mare than the truck in the same time?

a) S6km/hr b) ¥3km/hr
c] 80km/hr d) 78km/hr

Q No. 32. 360g is what percent of 3 Kg?
a) 12% b) 15%
c) 18% d) 21%

Q No. 33. A farmer travelled a distance of 61 km in 9 hrs. He travelled partly on foot
at the rate of 4 km/hr and partly on bicyele at the rate of 9 km/hr. The
distance travelled on foot is:

a) 17 km b) 16 km
el 15km d) 14 km
Q No. 34. Which of the following two angles are classified as complementary?
a) 65°and 25° b) 70° and 30°
¢) 120° and 60° d) 50° and 30°
Q No. 35.Angics that have a common side and a common vertex on a line are
classified as:
a) Complementary angles b) vertically opposite angles
¢) Supplementary angles d) adjacent angles
Page vi-2024
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SERIES-A

Q No. 36. Angles that gre less than 90° and greater than 0°

a) right angles
¢} Reflective angles

Q No. 37. Length = 3dm, Breadth = 3dm.
al] 11ldm

are called

b) obtuse angles
d) acute angles
Perimeter of sq = 2

e] 12ecm :: i:im
Q No. 38. Area of 8q = (B3 = P)cm? = AERGem2

a] B4cm b) 83cm

€) B82cm d) 85cm
Q No. 39. XXXIX = ? (Hindu Arabic numeral)

a) 72 b} 39

c) 820 d) 69
Q Ne. 40. What is roman number of 30007

a) M b) MMM

e) MM d) MMMM

Q No. 41. 3 boxes have some average welght. When one box which weighs 89 kg is
replaced by another box, the average weight increases by 5 kg. How

much the new box weighs?
a) 109 kg b) 94 kg
e) 104 kg d) 84 kg

Q No. 42. The averaé;e weight of B persons is Increased by 2.5 ke when one of them
who weighs 56 kg is replaced by a new man. The weight of the new man
is:
al] 76 Kg b 72 Kg
c)] TBKg d) None of these

Q No. 43.A certaln amount earns simple interest of Rs. 1750 alter 7 years. Had the
interest been 2% more, how much more interest would it have earned?

a) Rs. 35 b) Rs. 245
e) REs. 350 d) cannot be determined

33 Page 7 VI-2024
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G A o e e it sl e et
:: 5% b) &%
e) 12% dj 15%
Q No. 45.A [raction equivalent to 45/105 1s
a) 6/14 b) 3/7
c} 5/7 d) 7/5

SECTION B: INTELLIGENCE/ REASONING
(Total Question - 35 Max Marks - 70)

Q No. 46. [T NOIDA is written as OPJEB, then what will be the code for DELHI?

a) EFMAK b) EFAMK
c] EFMILJ d] EFMIK
Q No. 47.Which number is wrong in the series 2, 6, 15, 31, 56, 937
a) & b) 31
€) 56 d) 93
O No. 48.1f PINK 15 coded as 1691411, then RED will be coded as -
a) 1963 b) 1854
c) 1853 d} 1954
Q No. 49. Which of the following is the odd one from the given alternatives?
a) Driving b} Diving
¢) Swimming d} Sailing

Q No. 50. Which of the following set of letters completes the letter series, when
sequentially placed at the gaps? _ab _b_aba__ abab

a) abbab b) abbaa
e) abaab d) aaaba
Q@ No. 51. A is the mother of B; B is the sister of C; C is the father of D, So, how A i
related to D?
a] Grandmother b) Mother
e} Aunt

d) Insufficient data

JRSSEE-24 Page 8 iz
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Directions to Solve Q 52 - Q 54: In each of the following questions find out the
alternative which will replace the question mark.

Q No. 52.Flow: River: Stagnant: ?
a) Rain

c] Pool

Q No. 53. Ornithologist: Bird: Archacologist: ?

a) lzlands

¢) Archacology

Q No. 54. Archilect: Building: Sculptor:
a) Muscum
c) Chisel

Q No. 55.

3

SERIES-A

b) Stream
d) Canal

b} Mediators
d) Aguatic

b} Stone
d) Statue

A snail is al the bottom of a 30 feet well, cach day he elimbs up 3 feet,

but at night he slips back 2 feel. How many days will it take to him to

climb out of the well?
a) 28
c} 30

Q No. 56. Find the missing number?

E

SN
/

49 1

10

L]

a) 45
e} 72

JKSSEE-24

Page 9

b) 29
d) 31
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Directions to Solve Q 57 - Q@ 58: In each of the following questions, i,
correct mirror images of the given image of the Fig.(x)
¢ the four alternatives (1}, (2), (3) and {4) given along wiy, )

AMOngs
Q No. 57.
(X) | (1) (2) (3) {4)
a) 1 b) 2
e) 3 d] 4
Q No. 5E. "
2| [l
X} (1} 2) (3) (4
a) 1 b) 2
c) 3 l.'l] g

Directions to Solve Q 59 — Q 60: The bar graph given below shows the foreign
exchange reserves of a country (in million US $) from 1991 - 1992 to
1998 - 1999,

BLHI0 -|

5000 -

1000

Q — = .
A . SN A SN N A
{F‘\- nﬁ}m -.‘_# .,'ﬂiq'h -.,_“"ﬁ q_af‘nﬂ -Eﬁ -.:’Fﬁ

Q No. 59. For which year, the percent increase of foreign exchange reserves 07t i

previous vear, is the highest?
a) 1992-93 b) 1993-04
6) 1994-95 d) 1996-97
JKSSEE-24 Page 10 i
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Q No, AERIES-A

60. What wag i
{0078 wﬂ: f;;zt:t;fc Increase in the foreign exchange rege
a) 100
o b} 150
Directions tg Solve Q61 - S

Q 62; Choose the
EMPpty box so that the teg bottom p 1‘-'l'l=1tu:».:!L that would go in the
inl:l;l_ta re

way as the top two are related related in the same
Q No. 61.

ves in

‘:rff; x

a) 1 (3} h(.;
c) 3 )

d) 4
Q No. 62. Select a suitable figure from the four alternatives that

el
TIRIR[Z]

(i1} (2) (3) (4)

would complete the

a) 1 b) 2
c) 3 d] 4
Q No. 63. On 8t Dec, 2007 Saturday falls. What day of the week was it on 8t Dec,
20067
a) Sunday b) Thursday
c) Tuesday d) Friday
JKSSEE-24 Fage 1t vi-z0z4
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Q No. 64. Which of the following is not a leap year?
al 7001 b) B00
c) 1200 d) 2000

Q No. 65. A grocer has a sale of Rs. 5435, Rs. 6927, Rs. 6855, Rs. 7230 and Ry
6362 for 5 consecutive months. How much sale must he have i th.
; &

sixth month so that he gets an average sale of Rs. 65007

a) Rs 4991 b) Rs. 5991
¢} Rs. 6001 d] Rs. 6991

Q No. 66. A library has an average of 510 visitors on Sundays and 240 gp other
days. The average number of visitors per day in a month of 30 days
beginning with a Sunday is: _
a) 250 b) 276
e) 280 d) 285

Q No. 67.0ak tree is not taller than Red maple tree, Red maple tree is shorter thgy,
Pine tree. So which is the tallest tree?

a] Dak tree b) Red Maple tree
e} Pine tree d] None of these

Q No. 68. Find the missing number?

/A

16

a) 21 b) 22
c) 23 d) 24

Q No. 69. A father tells his son, "I was of your present age when you were born’. If
the father is 36 now, how old was the boy five years back?

a) 13 years b} 15 years
c) 17 vears d) 20 years

Q No. 70.A boy ranks 19% in the class and 36t from the Jast, How many students
are there in the class?

a) 54 b) 53

c] 52 d) 51
Tk

JKSSEE-24 Page 12 v
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SERIES-A

a) 40
c] B0 :: ?ﬂu
No..T2.1

Q :;n:?g; ;&22;11 ::ilﬂb;::. B by 25 m and B can beat C by 4 m. In the
a) 2lm b) 26 m
c)] 2Bm d] 29 m

Q No. 73.Heart is related to Blood, in the same way Lung is related to:
a) Chest b) Purification
¢} Oxygen d] Water

Q Ne. 74. A Fish is to Gills, then Human -8 1o J— ?
a) Kidney b) Lungs
¢) Stomach d] Bones

Q No. 75.Mujtaba does some work in 10 days and Tanveer does the same work in

15 days. In how many days they together will do the same work?
a) 5 days
¢) 10 days

b} & days
d} 15 days

Directions to Solve Q 76 - Q 77: In each of the following problems, a square
transparent sheet (X} with a pattern is given. Figure out from
amongst the four alternatives as to how the pattern would appear
when the transparent sheet is folded at the dotted line.

Q No. T6.

T ' B - T

0 f Ll L fol

ol poeld. el Ol...i

X (1) 2) (3] (4)
a) 1 b) 2
Page 13 Vi-2024
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Q No. 77.
. prasns g g e
IR RECRECREC
|  — - Kies
X) (1} (2] (3) 4)
a) | b) 2
e] 3 d} 4

Q No. TB.Three different positions X, ¥ and 2 of a dice are shown in the figures
given below, Which of the hidden numbers adjacent to 5 in Position ¥

is/are common to the hidden numbers adjacent toe 5 in position 73

TX

(X}
al] land4 b) 2

e] 6 d] None

Q@ No. 79.Four usual dice are thrown on the ground. The total of numbers on the
top faces of these four dice is 13 as the top laces showed 4, 3, 1 and 5
respectively, What is the total of the faces touching the ground?

a)l2 b) 13

c)15 d) Cannot be determined

Q No. BO.Two positions of a dice with 1 to & dots on its sides are shown below, If

the dice is resting on the side with three dots, what will be number of
dots on the side at the lop?

P

(i) ({7}
a) lors b} 2

e] 3 d) 5

JKSSEE-24 Page 14 ¥i-2024
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SERIES-A

SECTION C: ENGLISH
(Total Question - 29 Max Marks - 40)

PASSAGE

Directions (Q No. 81 to Q No. 85): Read the passage carefully and choose
correct option from the glven alternatives:

There is an interesting story about a rabbit and his grandpa. It happened, on

a full-moon night, our friend, the rabbit had gone out for a stroll when he met a
cunning Jackal. Luckily for Mr, Rabbit, Mr. Jackal had a very hearty meal that
night. So, instead of making Mr. Rabbit his dinner, Mr, Jackal decided 1o have anly
some fun at the expense of Mr. Rabhit. He said to Mr. Rabbit, “Look up there. Your
grandpa is waiting for you on the moon. Don't you want to go up there and see
him?" Mr. Rabbit was taken in, He did not understand that cunning Mr, Jackal was
only trying to befool him. He paid no heed to the advice of his dear mother and went
from friend to friend, secking help in reaching the moon,

Q No. 81. What did Mr. Jackal say to Mr. Rabbit?
a) that his grandfather was waiting for him on the moon
b) that his grandfather is waiting for him at home
¢) that his father is calling him
d) None of these

Q No. 82. When did Mr. Rabbit meet Mr. Jackal?
a) in the evening b) in the morning
¢) on a full moon night d) in the afternoon

Q No. B3. Find the word which means the same as ‘deceived”.
b) heed

d) taken in

a) clever
¢} cunning

Q No. 84. The Jackal was very
a) foolish b) cunning
¢) coward d) helpful

Q No. 85, Why did Mr. Jackal not eat up Mr. Rabhit?

a) he did not like rabbit
b) he did not want to kill Mr. Rabbit

¢) because his stomach wWas full
d) Mr. Rabbit escaped

Page 15 E
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Directions for Q No. B6 to Q No. 87: Fill in the blanks with suitable Prepositioy
from the options given below:

Q No. B6. Since Ali met his new friends, he never seems to be ___ home,

a) in b} i

c)is dj on
Q Neo. 87.Shc spent the entire evening ____ phone,

a) af b) in

e) on d) is

Directions for @ No. 88 to Q@ No. 90: Use appropriate article from the
alternatives given below:

Q Ne. 88. Hindi is .............. easy language.

a) an b) the

cla d) none of these
QNo. 89, ............ French defeated ........... Germans.

al A, a b) An, the

¢] The, the d) An, an
Q No. 90. ........... Taj mahal is a very beautiful building.

a) The b} an

e)a d) none of these

Directions for Q No. 91 to Q No. 92: Use the correct form of the verb from the
glven options:

Q No. 91, Will you ___ her?

a) had married b) marrying
¢} married d} marry
Q No. 92. I turned to my sister and ___ her about it.
a) asking b) asked
c) asks d) none of the above

Directions for Q No. 93 to Q No. 94: Fill in the blanks with suitable degree of
adjectives from the alternatives given below: '

Q No. 93. Which is the ............ living animal? (old)
a) older b) old
¢) oldest d) none of these
JKSSEE-24 Page 16 Vi-2024
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SERITES-A
Q No. 94. Gold iz a

"""""" metal. {costly)
a) more costly
c) costly b) costlier
d
Q No. 95. Select the antonym of 1he o ol | costlieat
a) Explanation N
¢) Silence b) Critique

. d) Pronouncement
Q No. 96. What is the antonym of 'DIVINE™

a) heavenly b spiritual
¢) delightful d) hp llish
e
Q No. 97. Which of the following is a gynonym for luxuriant?
a) Beautiful b) Luxurious
¢} Abundant d) Lovely

Directions for Q No. 98 to Q No.100: In each question below, there is a sentence

of which some parts have been jumbled up. Rearrange these parts
which are labelled P, Q, R and 8 to produce the correct sentenmce.
Choose the proper sequence.

Q No. 98. When he
P: did not know
Q: he was nervous and
R: heard the hue and ery at midnight

5: what to do

The Proper sequence should be:
a) ROPS b) QSFR
c) SQPR d} PORS

Q No. 9‘9 It has been established that

F: Einstein was
(Q: although a great scientist
R: weak in arithmetic
S: right from his school days

The Proper sequence should be:
a) SRFQ b) QPRS
c) QPSR d) ROPS

page 17 Vi-z024
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Q No. 100. | read an advertisement that said

P. posh, air-conditioned

Q: gentleman of taste

R: are available for

S: fully furnished rooms

The Proper sequence should be:
a] PORS
c) PSOR

E'EH.T['.H.*

b} PSRQ
d) SRPQ

SECTION D: GENERAL SCIENCE
(Total Question - 20 Max Marks — 40)

Q Neo. 101, helps in throwing out some wastes from body as urine and sweqt?
a) Proteins b} Carbohydrates
¢) Water d) Vitamins
Q No. 102, The source of Phosphorous is:
a) Banana b) Egg
¢] Apple d) Ginger
Q No. 103. Sand from water is separated by
a) sieving b) evaporation
e) filtration d) sedimentation and decantatior
Q No. 104. Threshing is done by
a| beating b) bullocks
c) machines d) all of these
Q No. 105. The prominent line in the middle of a leaf is called
a) Vein b) Petiole
¢) Midrib d} Lamina

Q No. 106. The net-like design on both sides of midrib is called ;

a) Leaf venation
c) Reticulate venation

b) Parallel venation
d) Lamina

Q No. 107. The prominent parts of the open flower are called -

b} petals
d) stamens

b} hinge joint
d) pivotal joint

s —

a) sepals
¢) pistil
Q No. 108. The knee has 5 joint?
a) Socket joint
¢) fixed join
21 Fage 18
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SERIES-A
Q No. Iug+ The bﬂd}’ of an c&rmwnrm i
a) rings ®madeup of many ___ joined end to end.
b) bones

d) muscle
ected with muscles and help to get

¢) skeleton

Q No. 110. Farthworm has __ which are conn
a good grip on the ground,
a) rings

b
¢} bristles | ntiuea

d} joints

Q No. 111. The pracess of getting rid of wastes by organisms is known as

a) respiration b) photosynthesis

H ;
¢) stimuli d) excretion

Q No. 112. Motion of an electric fan is
a) Circular motion
e) periodic motion

b) rectilinear motion
d) none of the above

Q No. 113. iz a device that is used to either break the electric circuit or to
complete it?

a) A plug b) A regulater
¢} A switch d) All of the above
Q Ne. 114. Each magnet has __ magnetic poles.
a| three b) four
c) two d) one
Q No. 115. Mountaineers carry oxygen cylinders with them becaugg--eeae-.

a) there is no oxygen on high mountains
b) there is deficiency of oxygen on mountains at high altitude
¢} oxygen is used for cooking
d) oxygen keeps them warm at low temperature.
Q No. 116. Clouds are

a) tiny drops of water floating in the air
b) mixture of dust and water vapour

e) particles of water vapour

d) rain drops in the air.

Q No. 117. Which of the following does not express a time interval?
o i b) A sccond

cj A echool ]].g-rjnds d) Time of the first bell in the school

Fage 19 VI-2024
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SERIES.,

Q No. 118. Which of Lhe following is an aquatic habitat?
a) Lakes b) Forest
¢) Oceans d} Both (a) and |c)
Q No. 119, If you happen to go to a desert, what changes do you expect 1 obsery,
in the urine you excrete? You would -
(ijexcrete small ameount of urine
(ii) excrete large amount of urine

(iii) excrete concentrated urine
(iv) excrete very dilute urine
Which of the above would hold true?
a) (i) and (iii) b) (i) and (iv]
c} (i} and {iv) d) (i} and (i)
Q No. 120. Which of the following is not an example of response to stimulus?
a) Watering in mouth when we see delicious food items
b} Closing of leaves of mimosa plant when touched
¢) Shutting our eyes when an object is suddenly thrown in our direction

d) A chick hatching out of an egg

SECTION E: SOCIAL SCIENCE / GENERAL KNOWLEDGE
(Total Question - 15  Max Marks - 30)

Q No. 121. Which device is used to detect and measure the purification of the milk?

a} Microphone b) Barometer

¢) Hydrometer d) Lactometer
Q No. 122. The National river of India is—-——-

a) Ganga b) Indus

¢} Brahmaputra d) Kosi

Q No. 123, Which among the following does not belong to the commissioned ranks

in the army service?

a) Brigadier b) Colonel
c) Major d) Commander
_f—'_._._._'_'_._._.-._'-
i Page 20 yi-2024
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Q No. 124. Which cricketer has the record of high
cal

. individual ;
a) Rohit Sharmg score in ODIs?

b) Chris Gayle
e] Virender Schwag :

d} Sachin Tendulkar

Q No. 125. The head quarter of the yp, .
g United Nations Orpanization [UNQ) is Incated
a) New York —
ndon
€] New Delhi &ivi
ienna

Q No. 126. Who has recently been crowned as Miss India 2023

a) Nandini Gupta b) Shreya Pooja

¢) Sunita Gupta d) Kareena Gupta
Q No. 127. A voung one of a cow is called:

a) Pup b] Chick

e} Cygnet d) Calf

Q No. 128, Which among the following causes environmental pollution?
a) Tidal encrgy b} Solar energy
c) Wind energy d) Cozl

Q No. 129. The Rigveda includes more than a thousand hymns, called
a) Sukta b) Vishis
¢} Soma d) Recited

Q No. 130. Teachers Day is celebrated on;

a) 5™ Aupgust b) 5t July
e) 5th September d) 5 October

Q No. 131, Which imaginary line-running on the globe-divides the carth infto two
equal parts?
(a) Axis (b} Latitude
(¢) Equator (d} None of thesc
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SERTES. 4

Q No. 132. The deepest Mariana trench is in the Ocean,
a) Atlantic b) Indian
¢] Southern d) Pacific

Q No. 133. The Indus valley civilization was initially called-------
a) Harappa Civilization b) Mohenje-Daro Civilization
e] Punjab-Sind Civilization d) Lothal Civilization
Q No. 134, The driest place on the carth §-------=-----
a) Atacama desert b) Thar desert
c) Sahara desert d) Gobi desert
Q Ro. 135, The Indian government is elected for how many years?

a) 5 Years b) 7 Years

El 10 Years d' B ?‘-'ﬂrﬁ
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